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S1ELm) e etm) X3E(%)
=] . e e
A 12,923 8,359 65 127
AYZ| 1980 | 1935 187.4 2,900 2,104 73 139
%% Z| 1450 | 1410 135.7 2,750 1,772 64 126
g M| 180.0 | 180.0 176.6 87 68 78 139
o & 1617 | 160.0 152.1 1,248 821 66 134
2 ol 1647 | 163.0 148.9 595 267 45 105
H 9| 3649 | 3640 357.2 28 18 66 120
g F 1640 161.0 154.9 181 105 58 127
L Q| 205.1 | 204.0 194.9 49 27 54 123
S |5 b
g5 & 1986 | 1950 186.4 54 29 53 95
E3M 2385 | 236.0 229.1 22 12 56 137
g M| 1790 | 176.0 164.7 790 482 61 125
L L 460 41.0 40.6 309 173 56 137
U Q¥ 2102 | 2072 197.1 74 50 68 117
8 & 2655 | 2635 254.1 815 483 59 111
% | 800 76.5 73.0 1,490 978 66 113
2 ®&| 755 74.0 64.2 117 44 37 83
MXZ| 1977 | 1965 186.3 466 232 50 112
gd|F= | 1105 108.5 105.5 707 512 72 148
X 2 OoH 438 412 37.1 50 31 61 104
2 5| 828 82.0 78.8 191 153 80 174
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z
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d H| 1593 156.8 148.2 103 45 44 105
OF A| 4497 439 37.1 18 9 49 83
2 Z| M2 40.0 38.8 3 2 73 125
2 2| 1526 150.0 143.3 160 94 59 120
o (O =] 1227 120.0 108.5 36 10 28 76
=
7t
S AP A 632 60.0 46.0 30 5 18 55
O & 5291 485 46.8 13 5 36 94
M2 300 30.0 27.4 2 2 80 101
o x| 496 48.0 475 5 4 80 161
T M| 9454 93.0 91.1 10 8 84 126
o | O| 662 64.0 59.4 31 23 73 124
M|
H 2/ 11133 109.7 107.7 10 7 67 119




